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F<1 PBR1 JEE A O 58 B AR
*f BR X KX EEES
IRERIS R LN (g/H) 921.7 = 81.6 931.4 * 74.4 990.6 * 45.5
7T0kg®| 2 H fin 114.2 = 2.9 111.8 + 8.2 113.0 = 4.4
JEEH%  (30-70ke) 44.3 = 3.6 43.2 = 2.9 40.8 = 5.3
£ JoH 2 B & (kg/ H) 2.46 = 0.16 2.46 = 0.10 2.51 = 0.16
fir B} B oKk 2R 2.46 £ 0.16 2.46 = 0.10 2.46 = 0.11
P - AR YRR A
F2 B BT %R o R
S FE X Bk X K X
L H SR & (g/H) 952.9 =+ 152. 4 1008.9 = 101.6 1033.9 = 129.1
110kg®I3Z H i 155.0 =+ 10. 8 150.3 = 9.6 152.7 = 12.3
mE H#  (70kg-110kg) 40.8 = 8.2 38.5 = 5.9 39.7 = 8.5
£ JoH 2 B & (kg/ H) 3.42 =+ 0.41 3.39 = 0.14 3.28 + 0.43
fir B} ok 2R 3.60 =+ 0. 40 3.36 = 0.25 3.32 = 0.35
P - AR VEAR A
#3 ARl ERE
Xt FR X AKX EEES
KT E & (%) 72.8 = 1.3 73.5 £ 1.1 73.3 £ 0.9
iR =R (en®/g) 30.3 &= 3.0 34.1 = 2.6 33.5 = 2.3
LR K T (%) 81.8 = 3.7 87.4 = 3.9 87.3 + 3.0
JNEE 2K (%) 23.4 + 3.5 21.9 = 3.6 29.0 = 4.1
JEHE A (%) 45.6 = 2.6 45.6 = 3.7 44,1 + 2.9
FU v 7 m R
(48 H) (%) 8.7 + 1.7 7.7 £ 0.9 7.8+ 1.8
2

& b7 77 4 (kg/cm”) 5.3 + 1.2 5.9 + 1.7 5.5 + 0.9
i A N IE G & & (%) 3.2 = 1.8 3.0+ 1.2 2.1+ 0.5
0 — AN H A

L 60.8 *= 14.2 58.7 + 16.5 54.7 = 11.0

ax 6.2 = 2.5 6.0 = 1.8 6.1 = 1.7

b* 4.3 + 1.3 4.0 = 1.5 3.7 = 1.5
EEN A

L 69.9 *+ 13.3 70.4 = 15.5 74.5 = 12.8

a* 4.6 + 2.1 5.2 = 1.1 4.2 + 2.2

b 4.5 = 1.0 5.1 + 2.2 4.8+ 0.6
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*F HR X Bk X KX

LH X HE k& (g/H) 937.7 =+ 57.3 918.3 =+ 70.9 898.7 =+ 50.4
EEH%  (5iE{E-110ke) (g) 102.6 = 7.2 106.2 += 8.2 106.2 =+ 5.3
fi 1o 2 B A (ke/H) 2.56 £ 0.11 2.47 =+ 0.19 2.46 + 0.12
s 2.74 £ 0.18 2.72 =+ 0.18 2.73 + 0.15
Y - AR HE R 2
£5 KDOHEE N

Bk ok
1 A (KOHmg/g) 24.3 23.7
18 FE b ) Al (meq/kg) 5.2 11.1
T VIR = )UAl (umol/g) 5.5 7.4
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